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BASED ON N.C.E.R.T PATTERN  :  

                                  CH-  Division  

  WORD  PROBLEMS  ( Division  ) 

See example  carefully and solve these questions:- 

Example  :-   In a bookshop, 3 5 5 5 books  were put 

In 1 5 cartons  ,with equal number of books in all  

the cartons  . How many books were  put in each  

carton . 

Solution  : Number of books put in 15 carton=3555 

Number of books in 1 carton = 3555 ÷ 15 = 237 

Answer: In each carton, 237 books were put  . 

                          PRACTICE  SHEET  

1. There are 280 children in a play school .how many 

cars are needed to take all the children to a zoo if a 

car can hold maximum 8 children ? 

2. The cost of 7 notebook is rupees 364 what is the cost 

of one notebook ? 



3. 759 children were asked to stand in 11 rows such 

that all the rows have the same number of children 

find the number of children in each row . 

4. Among how many girls can 6960 toys be shared if  

each girls gets 13 toys  ?.   How many  toys will  

Remain  unashamed? 

5.  7528 bolts are  packed equally in 17 boxes. After 

Packing , how many extra bolts will be left over ? 
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